

Pay Estimate Created Date: September 2, 2021

Progress Estimate Number	Contract in	201218-C05	Pay Period Start	August 16, 2021	Original Contract Amount	\$1,350,898.84
6	Prime Contractor	Radmacher Brothers Excavating Co.,Inc.	Pay Period End	September 1, 2021	Net Change Order Amount	\$27,361.23
					Current Contract Amount	\$1,378,260.07

Approval Date		By User
September 2, 2021	Generated and Approved (and should be considered Draft) at the Project Office Level by	nguyep1
September 2, 2021	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	penner1
September 3, 2021	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2021	November 1, 2021		60.03%

	Contract Informational Date	tes	Milestones
Date Description	Original Completion Date	<b>Current Completion Date</b>	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	January 6, 2021	January 6, 2021	
Letting Date	December 18, 2020	December 18, 2020	
Notice to Proceed Date	February 8, 2021	February 8, 2021	
Work Began Date	June 7, 2021	June 7, 2021	

Contract Total Pay	y For Estimate No. 6			
		This Estimate	Previous	To Date
201218-C05				
	Total Posted Items Pay	\$219,660.87	\$607,760.73	\$827,421.60
	Gross Item Adjustments	\$285.45	\$2,634.66	\$2,920.11
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	•		\$610,395.39	\$830,341.71
<b>Contract Total Pay</b>	/able This Estimate:	\$219,946.32		

### **Items Paid This Estimate Period**

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J4P3255	0060	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	SQYD	\$10.000	1,532.2	\$15,322.00
	0070	4019905	MISC.OPTIONAL PAVEMENT	SQYD	\$51.700	3,230	\$166,991.00
	0130	6083006	6 IN. CONCRETE MEDIAN STRIP	SQYD	\$81.500	159.9	\$13,031.85
	0150	6091052	CURB AND GUTTER TYPE B	LF	\$32.400	147	\$4,762.80
	0270	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	LF	\$24.500	163	\$3,993.50
	0450	7261024	24 IN. PIPE GROUP A	LF	\$190.350	0.4	\$76.14
	0490	8051000A	SEEDING - COOL SEASON MIXTURES	ACRE	\$2,404.500	1.88	\$4,520.46
	0530	8061007A	CURB INLET CHECK	EA	\$210.000	1	\$210.00
	5002	8069903	MISC.SILK SOCK	LF	\$1.900	184	\$349.60
	5003	6122009	IMPACT ATTENUATOR 45 MPH (SAND BARREL ARRAY)	EA	\$2,940.000	2	\$5,880.00
	5004	6173700B	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	LF	\$23.560	192	\$4,523.52
Project J4F	23255 - Tot	al					\$219,660.87
Overall - T	otal						\$219,660,87

### **Contract Adjustments This Estimate**

No Contract Adjustments Exist on Contract

### Line Item Adjustments This Estimate

Revision 4/1/2020 Page 1 of 20



Pay Estimate Created Date: September 2, 2021

Pay Period Start Pay Period Original Contract Amount Net Change Order **Progress Estimate** August 16, 2021 \$1,350,898.84 Contract ID 201218-C05 Number Prime Radmacher Brothers Excavating September 1, 6 \$27,361.23 Contractor End 2021 Amount Co.,Inc. Current Contract Amount \$1,378,260.07

oject mber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
P3255	0060	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,532.2	\$0.19	\$285.45
	0070	MISC.	Material			-3,230	\$51.70	(\$166,991.00
	0070	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user nguyep1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	3,230	\$51.70	\$166,991.00
	0100	CONCRETE PAVEMENT (8 IN. NON-REINFORCED, 15 FT. JOINTS)	Material			-256.973	\$57.20	(\$14,698.86
	0100	CONCRETE PAVEMENT (8 IN. NON-REINFORCED, 15 FT. JOINTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user nguyep1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	256.973	\$57.20	\$14,698.86
	0130	6 IN. CONCRETE MEDIAN STRIP	Material			-159.9	\$81.50	(\$13,031.85
	0130	6 IN. CONCRETE MEDIAN STRIP	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user nguyep1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	159.9	\$81.50	\$13,031.85
	0140	PAVED APPROACH, 8 IN.	Material			-40.8	\$111.20	(\$4,536.96
	0140	PAVED APPROACH, 8 IN.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	40.8	\$111.20	\$4,536.96
	0150	CURB AND GUTTER TYPE B	Material			-147	\$32.40	(\$4,762.80
	0150	CURB AND GUTTER TYPE B	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	147	\$32.40	\$4,762.80
	0160	PAVED DITCH	Material			-29.9	\$88.15	(\$2,635.68
	0160	PAVED DITCH	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user nguyep1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	29.9	\$88.15	\$2,635.68
	0170	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	Material			-63	\$51.15	(\$3,222.45
	0170	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user nguyep1 overridding Payment Estimate Exception 12 on the current Payment Estimate.	63	\$51.15	\$3,222.45
	0340	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	Material			-1,585	\$0.85	(\$1,347.25
	0340	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment Estimate Exception 17	1,585	\$0.85	\$1,347.25

Revision 4/1/2020 Page 2 of 20



Pay Estimate Created Date: September 2, 2021

Pay Period Start Pay Period Original Contract Amount Net Change Order **Progress Estimate** August 16, 2021 \$1,350,898.84 Contract ID 201218-C05 Number Prime Radmacher Brothers Excavating September 1, \$27,361.23 Contractor End 2021 Amount Co.,Inc. Current Contract Amount \$1,378,260.07

ect ber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
255					on the current Payment Estimate.			
	0360	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material			-429	\$0.35	(\$150.15)
	0360	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user nguyep1 overridding Payment Estimate Exception 18 on the current Payment Estimate.	429	\$0.35	\$150.15
	0460	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Material			-7	\$1,294.60	(\$9,062.20)
	0460	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user nguyep1 overridding Payment Estimate Exception 20 on the current Payment Estimate.	7	\$1,294.60	\$9,062.20
	0470	21 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Material			-2	\$1,432.60	(\$2,865.20)
	0470	21 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user nguyep1 overridding Payment Estimate Exception 22 on the current Payment Estimate.	2	\$1,432.60	\$2,865.20
	0480	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Material			-1	\$1,432.60	(\$1,432.60)
	0480	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0013) due to user nguyep1 overridding Payment Estimate Exception 23 on the current Payment Estimate.	1	\$1,432.60	\$1,432.60
	0490	SEEDING - COOL SEASON MIXTURES	Material			-1.88	\$2,404.50	(\$4,520.46)
	0490	SEEDING - COOL SEASON MIXTURES	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user nguyep1 overridding Payment Estimate Exception 24 on the current Payment Estimate.	1.88	\$2,404.50	\$4,520.46
	0530	CURB INLET CHECK	Material			-1	\$210.00	(\$210.00)
	0530	CURB INLET CHECK	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0015) due to user nguyep1 overridding Payment Estimate Exception 28 on the current Payment Estimate.	1	\$210.00	\$210.00
	0750	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	Material			-2,938	\$17.45	(\$51,268.10)
	0750	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0016) due to user nguyep1 overridding Payment Estimate Exception 29 on the current Payment Estimate.	2,938	\$17.45	\$51,268.10
	0770	CONDUIT, 4 IN., PUSHED WITH TRACER WIRE	Material			-566	\$37.30	(\$21,111.80)

Revision 4/1/2020 Page 3 of 20



Pay Estimate Created Date: September 2, 2021

Progress Estimate Number	Contract ID	201218-C05	Pay Period Start	August 16, 2021	Original Contract Amount	\$1,350,898.84	
6	Prime Contractor	Radmacher Brothers Excavating Co.,Inc.	Pay Period End	September 1, 2021	Net Change Order Amount	\$27,361.23	
					Current Contract Amount	\$1,378,260.07	

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4P3255	0770	CONDUIT, 4 IN., PUSHED WITH TRACER WIRE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0017) due to user nguyep1 overridding Payment Estimate Exception 30 on the current Payment Estimate.	566	\$37.30	\$21,111.80
	0820	PULL BOX, PREFORMED CLASS 2	Material			-5	\$1,826.10	(\$9,130.50)
	0820	PULL BOX, PREFORMED CLASS 2	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0018) due to user nguyep1 overridding Payment Estimate Exception 31 on the current Payment Estimate.	5	\$1,826.10	\$9,130.50
	0840	PULL BOX, PREFORMED CLASS 5	Material			-1	\$2,335.10	(\$2,335.10)
	0840	PULL BOX, PREFORMED CLASS 5	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0019) due to user nguyep1 overridding Payment Estimate Exception 32 on the current Payment Estimate.	1	\$2,335.10	\$2,335.10
	5003	IMPACT ATTENUATOR 45 MPH (SAND BARREL ARRAY)	Material			-2	\$2,940.00	(\$5,880.00)
	5003	IMPACT ATTENUATOR 45 MPH (SAND BARREL ARRAY)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0020) due to user nguyep1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	2	\$2,940.00	\$5,880.00
	5004	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	Material			-192	\$23.56	(\$4,523.52)
	5004	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0021) due to user nguyep1 overridding Payment Estimate Exception 16 on the current Payment Estimate.	192	\$23.56	\$4,523.52
Total								\$285.45

Revision 4/1/2020 Page 4 of 20



					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J4P3255	FAF 291-1(87)	Signal improvements	291	JACKSON	from 0.2 mile north of Stuart Road to 0.1 mile south of Persels Road in Lee's Summit

J4P3255		Signal improvements	291	JACKSON	from 0.2 mile north of	from 0.2 mile north of Stuart Road to 0.1 mile south of Persels Road in Lee's Summit					
otals by J	lob Numbe	rs									
J4P3255					This Estimate	Previous	To Date				
	Poste	d Item Pay			\$219,660.87	\$607,760.73	\$827,421.60				
	Gross	Item Adjustmen	nts		\$285.45	\$2,634.66	\$2,920.11				
			Gross I	tem Pay	\$219,946.32	\$610,395.39	\$830,341.71				
	Incent	ive			\$0.00	\$0.00	\$0.00				
	Disino	Disincentive			\$0.00	\$0.00	\$0.00				
	Liquidated Damages				\$0.00	\$0.00	\$0.00				
	Other	Contract Adjust	ments		\$0.00	\$0.00	\$0.00				

Revision 4/1/2020 Page 5 of 20



### **Exceptions (Discrepancies) This Estimate Period**

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 4019905, Project Item Line Number 0070, Material Set 401990596, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Waiting on QC test data submissions.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 5021308, Project Item Line Number 0100, Material Set 502130896, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Waiting on QC test data submissions.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6083006, Project Item Line Number 0130, Material Set 608300696, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	Working with materials to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6083006, Project Item Line Number 0130, Material Set 608300696, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Waiting on QC test data submissions.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6085008, Project Item Line Number 0140, Material Set 608500896, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.	Working with contractor to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6085008, Project Item Line Number 0140, Material Set 608500896, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Waiting on QC test data submissions.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6091052, Project Item Line Number 0150, Material Set 609105296, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	Working with materials to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6091052, Project Item Line Number 0150, Material Set 609105296, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	Waiting on QC test data submissions.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6091060, Project Item Line Number 0160, Material Set 609106096, Material 1036RSWFPLW014 - W01.4 Plain Welded Wire Fabric @, Acceptance Action Generic ReSteelFabric is insufficient.	Working with contractor to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6091060, Project Item Line Number 0160, Material Set 609106096, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	Working with contractor to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6091060, Project Item Line Number 0160, Material Set 609106096, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	Waiting on QC test data submissions.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6092011, Project Item Line Number 0170, Material Set 609201196, Material 0501CCPA.A - Concrete, Pavement w/Air, Acceptance Action Generic 0501CCPA.A is insufficient.	Waiting on QC test data submissions.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6092011, Project Item Line Number 0170, Material Set 609201196, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Waiting on QC test data submissions.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6092011, Project Item Line Number 0170, Material Set 609201196, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	Working with materials to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6122009, Project Item Line Number 5003, Material Set 612200996, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Working with contractor to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6173700B, Project Item Line Number 5004, Material Set 6173700B96, Material 0617TCRCTF - Type F Concrete Traffic Barrier, Acceptance Action Generic 0617TCRCTF is insufficient.	Working with materials to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6205303B, Project Item Line Number 0340, Material Set 6205303B96, Material 1048PMRPMTYL - Marking Tape Removable Yellow, Acceptance Action Generic 1048PMRPMTYL is insufficient.	Working with materials to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6205902A, Project Item Line Number 0360, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Working with materials to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 6205902A, Project Item Line Number 0360, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Working with materials to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 7320618A, Project Item Line Number 0460, Material Set 7320618A96, Material 1032ESRCF - Conc End Section for Round Pipe, Acceptance Action Generic 1032ESRCF is insufficient.	Working with contractor to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 7320618A, Project Item Line Number 0460, Material Set 7320618A96, Material 1020ESAC - Flared End Section Aluminum coated steel, Acceptance Action Generic 1020ESAC is insufficient.	Working with contractor to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 7320621A, Project Item Line Number 0470, Material Set 7320621A96, Material 1032ESRCF - Conc End Section for Round Pipe, Acceptance Action Generic 1032ESRCF is insufficient.	Working with contractor to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 7320624A, Project Item Line Number 0480, Material Set 7320624A96, Material 1020ESAC - Flared End Section Aluminum coated steel, Acceptance Action Generic 1020ESAC is insufficient.	Working with contractor to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 8051000A, Project Item Line Number 0490, Material Set 8051000A96, Material 0805SD - Grass Seed -Seed, Acceptance Action	Working with contractor to resolve.	nguyep1	Overridden

Revision 4/1/2020 Page 6 of 20



**Exceptions (Discrepancies) This Estimate Period** 

Exceptions / Discrepencies	Explanation	Entered By	Status
Generic 0805SD is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 8051000A, Project Item Line Number 0490, Material Set 8051000A96, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	Working with contractor to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 8051000A, Project Item Line Number 0490, Material Set 8051000A96, Material 0801FZ - Fertilizer, Acceptance Action Generic 0801FZ is insufficient.	Working with contractor to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 8051000A, Project Item Line Number 0490, Material Set 8051000A96, Material 0801AG - Agricultural Lime -Effective Nuetralizer, Acceptance Action Generic 0801AG is insufficient.	Working with contractor to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 8061007A, Project Item Line Number 0530, Material Set 8061007A96, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient.	Working with contractor to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 9025300, Project Item Line Number 0750, Material Set 902530096, Material 1060EC - Electrical Conduit Material, Acceptance Action Generic 1060EC is insufficient.	Working with materials to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 9027400, Project Item Line Number 0770, Material Set 902740096, Material 1060EC - Electrical Conduit Material, Acceptance Action Generic 1060EC is insufficient.	Working with materials to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 9028811, Project Item Line Number 0820, Material Set 902881196, Material 1062PBPF - Pull Box Preformed Poly Resin Fiber, Acceptance Action Generic 1062PBPF is insufficient.	Working with materials to resolve.	nguyep1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3255, Item 9028816, Project Item Line Number 0840, Material Set 902881696, Material 1062PBPF - Pull Box Preformed Poly Resin Fiber, Acceptance Action Generic 1062PBPF is insufficient.	Working with materials to resolve.	nguyep1	Overridden

Revision 4/1/2020 Page 7 of 20



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
201218-C05	J4P3255	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.25	\$57,372.45	\$14,343.11
		0001	0020	2031000	CLASS A EXCAVATION	4,729.00	0.00	4,729.00	CUYD	2,611.24	\$11.10	\$28,984.72
		0001	0030	2035500	EMBANKMENT IN PLACE	478.00	0.00	478.00	CUYD	478.00	\$21.55	\$10,300.90
		0001	0040	2036000	COMPACTING EMBANKMENT	1,604.00	0.00	1,604.00	CUYD	1,593.00	\$1.20	\$1,911.60
		0001	0050	2063000	CLASS 3 EXCAVATION	136.00	0.00	136.00	CUYD	136.00	\$11.60	\$1,577.60
		0001	0060	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	6,260.00	0.00	6,260.00	SQYD	6,260.00	\$10.00	\$62,600.00
		0001	0070	4019905	MISC.OPTIONAL PAVEMENT	3,230.10	0.00	3,230.10	SQYD	3,230.00	\$51.70	\$166,991.00
		0001	0080	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	339.40	0.00	339.40	TONS	0.00	\$115.50	\$0.00
		0001	0090	4071005	TACK COAT	283.00	0.00	283.00	GAL	0.00	\$2.25	\$0.00
		0001	0100	5021308	CONCRETE PAVEMENT (8 IN. NON-REINFORCED, 15 FT. JOINTS)	2,957.00	0.00	2,957.00	SQYD	2,957.00	\$57.20	\$169,140.40
		0001	0110	6044011	PIPE COLLAR, TYPE A	1.00	0.00	1.00	EA	1.00	\$1,670.75	\$1,670.75
		0001	0120	6044012	PIPE COLLAR, TYPE B	5.00	0.00	5.00	EA	5.00	\$1,276.30	\$6,381.50
		0001	0130	6083006	6 IN. CONCRETE MEDIAN STRIP	159.90	0.00	159.90	SQYD	159.90	\$81.50	\$13,031.85
		0001	0140	6085008	PAVED APPROACH, 8 IN.	40.80	0.00	40.80	SQYD	40.80	\$111.20	\$4,536.96
		0001	0150	6091052	CURB AND GUTTER TYPE B	147.00	0.00	147.00	LF	147.00	\$32.40	\$4,762.80
		0001	0160	6091060	PAVED DITCH	29.90	0.00	29.90	SQYD	29.90	\$88.15	\$2,635.68
		0001	0170	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	63.00	0.00	63.00	LF	63.00	\$51.15	\$3,222.45
		0001	0180	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	4.00	0.00	4.00	EA	0.00	\$0.00	\$0.00
		0001	0190	6161005	CONSTRUCTION SIGNS	1,875.00	0.00	1,875.00	SQFT	1,538.00	\$7.90	\$12,150.20
		0001	0200	6161008	ADVANCED WARNING RAIL SYSTEM	8.00	0.00	8.00	EA	4.00	\$89.25	\$357.00
		0001	0210	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	0.00	\$26.25	\$0.00
		0001	0220	6161010	RELOCATED SIGNS	297.00	0.00	297.00	SQFT	0.00	\$7.90	\$0.00
		0001	0230	6161025	CHANNELIZER (TRIM LINE)	96.00	0.00	96.00	EA	96.00	\$21.00	\$2,016.00
		0001	0240	6161030	TYPE III MOVEABLE BARRICADE	8.00	0.00	8.00	EA	0.00	\$194.25	\$0.00
		0001	0250	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	1.00	\$1,155.00	\$1,155.00
		0001	0260	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$4,725.00	\$18,900.00
		0001	0270	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	163.00	0.00	163.00	LF	163.00	\$24.50	\$3,993.50
		0001	0280	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$185,261.00	\$138,945.75
		0001	0290	6200003	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 4 IN., WHITE	493.00	0.00	493.00	LF	0.00	\$3.15	\$0.00
		0001	0300	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	583.00	0.00	583.00	LF	0.00	\$14.70	\$0.00
		0001	0310	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	964.00	0.00	964.00	LF	0.00	\$10.50	\$0.00
		0001	0320	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	19.00	0.00	19.00	EA	0.00	\$220.50	\$0.00
		0001	0330	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	5,697.00	0.00	5,697.00	LF	0.00	\$0.85	\$0.00
		0001	0340	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	4,375.00	0.00	4,375.00	LF	1,585.00	\$0.85	\$1,347.25
		0001	0350	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,557.00	0.00	2,557.00	LF	0.00	\$0.15	\$0.00
		0001	0360	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	5,800.00	0.00	5,800.00	LF	429.00	\$0.35	\$150.15
		0001	0370	6205906A	12 IN, WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	3,050.00	0.00	3,050.00	LF	0.00	\$0.55	\$0.00
		0001	0380	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	3,602.00	0.00	3,602.00	LF	0.00	\$0.15	\$0.00
		0001	0390	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,307.00	0.00	2,307.00	LF	0.00	\$0.15	\$0.00
		0001	0400	6207001	PAVEMENT MARKING REMOVAL	19,039.00	0.00	19,039.00	LF	1,585.00	\$0.45	\$713.25
		0001	0410	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	205.00	0.00	205.00	SQYD	0.00	\$30.05	\$0.00
		0001	0420	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$8,400.00	\$0.00
		0001	0430	7261018	18 IN. PIPE GROUP A	231.00	0.00	231.00	LF	231.00	\$66.35	\$15,326.85

Page 8 of 20 Revision 4/1/2020



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
201218-C05	J4P3255	0001	0440	7261021	21 IN. PIPE GROUP A	124.00	0.00	124.00	LF	124.00	\$67.60	\$8,382.40
		0001	0450	7261024	24 IN. PIPE GROUP A	15.00	0.00	15.00	LF	15.00	\$190.35	\$2,855.25
		0001	0460	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	7.00	0.00	7.00	EA	7.00	\$1,294.60	\$9,062.20
		0001	0470	7320621A	21 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$1,432.60	\$2,865.20
		0001	0480	7320624A	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$1,432.60	\$1,432.60
		0001	0490	8051000A	SEEDING - COOL SEASON MIXTURES	3.70	0.00	3.70	ACRE	1.88	\$2,404.50	\$4,520.46
		0001	0500	8061003	SEDIMENT TRAP EXCAVATION	50.00	0.00	50.00	CUYD	0.00	\$11.40	\$0.00
		0001	0510	8061004	SEDIMENT TRAP ROCK	7.00	0.00	7.00	CUYD	0.00	\$210.95	\$0.00
		0001	0520	8061006	ALTERNATE DITCH CHECK	2,026.00	0.00	2,026.00	LF	0.00	\$5.95	\$0.00
		0001	0530	8061007A	CURB INLET CHECK	2.00	0.00	2.00	EA	1.00	\$210.00	\$210.00
		0001	0540	8061016	SEDIMENT REMOVAL	198.00	0.00	198.00	CUYD	0.00	\$11.40	\$0.00
		0001	0550	8061019	SILT FENCE	1,353.00	-1,353.00	0.00	LF	0.00	\$1.90	\$0.00
		0020	0560	9011068	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 5	5.00	0.00	5.00	EA	0.00	\$2,172.80	\$0.00
		0020	0570	9011104	BRACKET ARM, 4 FT. OR 1.2 M	1.00	0.00	1.00	EA	0.00	\$301.00	\$0.00
		0020	0580	9011106	BRACKET ARM, 6 FT. OR 1.8 M	1.00	0.00	1.00	EA	0.00	\$345.25	\$0.00
		0020	0590	9011108	BRACKET ARM, 8 FT. OR 2.4 M	1.00	0.00	1.00	EA	0.00	\$345.25	\$0.00
		0020	0600	9011115	BRACKET ARM, 15 FT. OR 4.6 M	2.00	0.00	2.00	EA	0.00	\$773.40	\$0.00
		0020	0610	9011312	LUMINAIRE, LED-B	5.00	0.00	5.00	EA	0.00	\$601.75	\$0.00
		0020	0620	9017008	CABLE, 8 AWG 1 CONDUCTOR	3,500.00	0.00	3,500.00	LF	0.00	\$1.65	\$0.00
		0020	0630	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	550.00	0.00	550.00	LF	0.00	\$1.10	\$0.00
		0020	0640	9017208	WIRE, 8 AWG, BARE NEUTRAL	1,750.00	0.00	1,750.00	LF	0.00	\$1.45	\$0.00
		0020	0650	9018245	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	5.00	0.00	5.00	EA	0.00	\$1,417.60	\$0.00
		0020	0660	9018613	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120 VOLT SERVICE, LIGHTING AND SIGNALS	1.00	0.00	1.00	EA	0.00	\$13,122.80	\$0.00
		0030	0670	9020833	SH-FLAT SHEET - SIGNAL SIGN	53.00	0.00	53.00	SQFT	0.00	\$54.60	\$0.00
		0030	0680	9020834	SIGNAL SIGN, MOUNTING HARDWARE	10.00	0.00	10.00	EA	0.00	\$250.30	\$0.00
		0030	0690	9021413	SIGNAL HEAD, OPTICALLY LIMITED, TYPE 3B	10.00	0.00	10.00	EA	0.00	\$1,397.35	\$0.00
		0030	0700	9021414	SIGNAL HEAD, OPTICALLY LIMITED, TYPE 4B	2.00	0.00	2.00	EA	0.00	\$1,666.05	\$0.00
		0030	0710	9023350	POST, TYPE B, LONGEST ARM 50 FT. OR 15.2 M	1.00	0.00	1.00	EA	0.00	\$18,447.75	\$0.00
		0030	0720	9023355	POST, TYPE B, LONGEST ARM 55 FT.	1.00	0.00	1.00	EA	0.00	\$20,776.30	\$0.00
		0030	0730	9024283	CONTROLLER ASSEMBLY HOUSING, NEMA TS2 CONTROLLER	1.00	0.00	1.00	EA	0.00	\$21,167.85	\$0.00
		0030	0740	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	47.00	0.00	47.00	LF	0.00	\$17.30	\$0.00
		0030	0750	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	2,938.00	0.00	2,938.00	LF	2,938.00	\$17.45	\$51,268.10
		0030	0760	9025400	CONDUIT, 4 IN., TRENCH WITH TRACER WIRE	398.00	0.00	398.00	LF	0.00	\$20.20	\$0.00
		0030	0770	9027400	CONDUIT, 4 IN., PUSHED WITH TRACER WIRE	638.00	0.00	638.00	LF	566.00	\$37.30	\$21,111.80
		0030	0780	9028208	CABLE, 8 AWG 1 CONDUCTOR, POWER	80.00	0.00	80.00	LF	0.00	\$1.65	\$0.00
		0030	0790	9028311	CABLE, 16 AWG 7 CONDUCTOR	2,630.00	0.00	2,630.00	LF	0.00	\$1.90	\$0.00
		0030	0800	9028350	FIBER OPTIC CABLE, 6 - FIBER, SINGLE MODE	3,180.00	0.00	3,180.00	LF	0.00	\$2.05	\$0.00
		0030	0810	9028810	PULL BOX, PREFORMED CLASS 1	3.00	0.00	3.00	EA	0.00	\$1,396.05	\$0.00
		0030	0820	9028811	PULL BOX, PREFORMED CLASS 2	9.00	0.00	9.00	EA	5.00	\$1,826.10	\$9,130.50
		0030	0830	9028812	PULL BOX, PREFORMED CLASS 3	2.00	0.00	2.00	EA	0.00	\$2,436.85	\$0.00
		0030	0840	9028816	PULL BOX, PREFORMED CLASS 5	2.00	0.00	2.00	EA	1.00	\$2,335.10	\$2,335.10
		0030	0850	9029100	BASE, CONCRETE	9.30	0.00	9.30	CUYD	0.00	\$2,173.05	\$0.00
		0030	0860	9029901	MISC.FIBER OPTIC SPLICING, TESTING AND DOCUMENTATION	1.00	0.00	1.00	LS	0.00	\$11,755.05	\$0.00
		0030	0870	9029902	MISC.EMERGENCY VEHICLE DETECTION SYSTEM	4.00	0.00	4.00	EA	0.00	\$3,383.30	\$0.00
		0040	0875	9031010	CONCRETE FOOTINGS, EMBEDDED	3.60	0.00	3.60	CUYD	0.00	\$1,575.00	\$0.00

Page 9 of 20 Revision 4/1/2020



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
201218-C05	J4P3255	0040	0880	9031220	PIPE POSTS	2,280.00	0.00	2,280.00	LB	0.00	\$5.25	\$0.00
		0040	0890	9031270A	2 IN. PSST POST - 12 GA.	213.00	0.00	213.00	LF	0.00	\$15.75	\$0.00
		0040	0900	9031279	OMNIDIRECTIONAL POST ANCHOR FOR 2 IN. PSST - 7 GA.	51.00	0.00	51.00	LF	0.00	\$68.25	\$0.00
		0040	0910	9035004A	SH-FLAT SHEET	158.00	0.00	158.00	SQFT	0.00	\$26.25	\$0.00
		0040	0920	9035069A	SHF-FLAT SHEET FLUORESCENT	72.00	0.00	72.00	SQFT	0.00	\$36.75	\$0.00
		0040	0930	9039901	MISC.SOLAR POWERED FLASHER	1.00	0.00	1.00	LS	0.00	\$12,589.50	\$0.00
		0050	0940	9103700	CCTV CAMERA ASSEMBLY, INSTALLED	1.00	0.00	1.00	EA	0.00	\$4,839.40	\$0.00
		0050	0950	9109902	MISC.KC District Video Detection System	1.00	0.00	1.00	EA	0.00	\$40,259.20	\$0.00
		0001	5001	6139902	MISC.PARTIAL PAVEMENT REPAIR OF RUMBLE STRIPS	0.00	26.00	26.00	EA	26.00	\$557.98	\$14,507.48
		0001	5002	8069903	MISC.SILK SOCK	0.00	1,353.00	1,353.00	LF	1,153.00	\$1.90	\$2,190.70
		0001	5003	6122009	IMPACT ATTENUATOR 45 MPH (SAND BARREL ARRAY)	0.00	2.00	2.00	EA	2.00	\$2,940.00	\$5,880.00
		0001	5004	6173700B	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	0.00	296.00	296.00	LF	192.00	\$23.56	\$4,523.52
	Project J	4P3255 - To	otal Value	Posted to D	ate as of Report Generated Date							\$827,421.59
201218-C05 Ove	rall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$827,421.59

Revision 4/1/2020 Page 10 of 20



### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J4P3255

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0060	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	8/27/21	9/2/21	32.20	SQYD	Thompson Curb	6+94.24		8+39.12		
				9/2/21	647.40	SQYD	Market Street South	55+78.80		57+27.66		
				9/2/21	852.60	SQYD	Market Street North	53+26.65		55+10.46		
0070	4019905	MISC.	8/27/21	9/2/21	449.90	SQYD	North side of Thompson	7+03.05		9+66.08		
				9/2/21	647.40	SQYD	Market Street South	55+78.80		57+27.66		
				9/2/21	852.60	SQYD	Market Street North	53+23.65		55+10.46		
				9/2/21	1,280.10	SQYD	Scherer's Road	20+20.48		21+95.33		
0130	6083006	6 IN. CONCRETE MEDIAN STRIP	8/27/21	9/2/21	17.80	SQYD	SB MO 291 Divisional Island	54+85.31		55+05.17		
				9/2/21	17.90	SQYD	EB Scherer Divisional Island	21+81.76		21+99.15		
				9/2/21	32.20	SQYD	NB MO 291 Divisional Island	55+70.56		55+97.16		
				9/2/21	32.50	SQYD	Thompson Divisional Island	9+10.47		9+34.00		
				9/2/21	59.50	SQYD	EB Scherer Median Island	20+31.72		21+66.27		
0150	6091052	CURB AND GUTTER TYPE B	8/27/21	9/2/21	147.00	LF	Thompson Curb and Gutter	6+94.24		8+39.12		
0270	6173600D	TEMPORARY TRAFFIC BARRIER, CONT. FURN/RE	8/27/21	9/2/21	67.00	LF	Scherer Barrier Along 291 S SB	54+50.00		56+25.00		
				9/2/21	96.00	LF	Barrier Wall Protecting the Crossover	54+57.36		56+19.30		
0450	7261024	24 IN. PIPE GROUP A	8/27/21	9/2/21	0.40	LF	Rounding	1		1		
0490	8051000A	SEEDING - COOL SEASON MIXTURES	8/27/21	9/2/21	1.88	ACRE	Phase 1 and Phase 2 Seeding. Seeding of North Side of Thompson.	35+73.67		58+87.11		
0530	8061007A	CURB INLET CHECK	8/27/21	9/2/21	1.00	EA	Decker Street Curb Inlet Check	1+50.00		1+50.00		
5002	8069903	MISC. EROSION CONTROL	8/27/21	9/2/21	184.00	LF	Silt Sock on Project as of 9/1/21: 1153 LF	35+73.67		58+87.71		
5003	6122009	IMPACT ATTENUATOR 45 MPH (SAND BARREL ARRAY)	8/27/21	9/2/21	2.00	EA	Scherer Crossover	54+57.36		56+19.30		
5004	6173700B	TEMP. TRAFFIC BARRIER ANCHORED., CONT	8/27/21	9/2/21	192.00	LF	Scherer Crossover	54+57.36		56+19.30		

5004	6173700B	TEMP. TRAFFIC	BARRIER ANCHORED., CONT	8/27/21 9/2/21 192.00	LF Sche	erer Crossover		54+57.36	56+19.3	0		
he info	mation bel	ow this line	are details for Construction	Signs (if applicable).								
Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
J4P3255	0190	June 9, 2021	488	CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		MO 291 N 15.353	LT	1.00	12			1
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		MO 291 N 15.353	RT	1.00	12			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW Scherer Rd W 0.08	RT	1.00	16			1
				GO20-2 48x24 8.00 END ROAD WORK		SW Persels Rd. W 0.061	RT	1.00	8			
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		SW Persels Rd E 1.072	RT	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		MO 291 N 15.464	LT	1.00	16			
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		MO 291 N 15.464	RT	1.00	16			
				WO21-5b 48x48 16.00 SHOULDER WORK AHEAD		MO 291 N 15.531	LT	1.00	16			
				WO21-5b 48x48 16.00 SHOULDER WORK AHEAD		MO 291 N 15.531	RT	1.00	16			
				WO5-5 48x48 16.00 NARROW LANES		MO 291 N 15.636	LT	1.00	16			
				WO5-5 48x48 16.00 NARROW LANES		MO 291 N 15.636	RT	1.00	16			
				WO7-3a 30x24 5.00 NEXT XX MILES (PLAQUE)		MO 291 N 15.636	LT	1.00	5			
				R2-1 36x48 12.00 SPEED LIMIT XX		MO 291 N 15.762	LT	1.00	12			
				R2-1 36x48 12.00 SPEED LIMIT XX		MO 291 N 15.762	RT	1.00	12			
				G020-5aP 36x24 6.00 WORK ZONE (PLAQUE)		MO 291 N 15.762	LT	1.00	6			
				G020-5aP 36x24 6.00 WORK ZONE (PLAQUE)		MO 291 N 15.762	RT	1.00	6			
				R2-1 36x48 12.00 SPEED LIMIT XX		MO 291 N 16.047	LT	1.00	12			
				R2-1 36x48 12.00 SPEED LIMIT XX		MO 291 N 16.047	RT	1.00	12			
				G020-5aP 36x24 6.00 WORK ZONE (PLAQUE)		MO 291 N 16.047	LT	1.00	6			
				G020-5aP 36x24 6.00 WORK ZONE (PLAQUE)		MO 291 N 16.047	RT	1.00	6			
				GO20-2 48x24 8.00 END ROAD WORK		MO 291 N 16.703	LT	1.00	8			
				GO20-2 48x24 8.00 END ROAD WORK		MO 291 N 16.703	RT	1.00	8			
				WO7-3a 30x24 5.00 NEXT XX MILES (PLAQUE)		MO 291 N 5.636	RT	1.00	5			
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		MO 291 S 32.531	LT	1.00	12			
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		MO 291 S 32.531	RT	1.00	12			
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		MO 291 S 32.616	Left	1.00	16			
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		MO 291 S 32.616	RT	1.00	16			
				WO21-5b 48x48 16.00 SHOULDER WORK AHEAD		MO 291 S 32.679	LT	1.00	16			
				WO21-5b 48x48 16.00 SHOULDER WORK AHEAD		MO 291 S 32.679	RT	1.00	16			
				WO5-5 48x48 16.00 NARROW LANES		MO 291 S 32.78	LT	1.00	16			
				WO5-5 48x48 16.00 NARROW LANES		MO 291 S 32.78	RT	1.00	16			
				WO7-3a 30x24 5.00 NEXT XX MILES (PLAQUE)		MO 291 S 32.78	LT	1.00	5			
				WO7-3a 30x24 5.00 NEXT XX MILES (PLAQUE)		MO 291 S 32.78	RT	1.00	5			

Revision 4/1/2020 Page 11 of 20



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

1945   2046   2050	ject Line	DWR Date	are details for Construction  Total Quantity Posted For DWR	Sign Information	Station	Log Mile	Location	Number of	SF Each	Special Sign	SF Each Special	Total SF t
March   Marc	Number 3255 0190	lune 0, 2021	Date 488	P2-1 36v48 12:00 SPEED LIMIT		MO 201 S 32 875	LT	Items	Sign		Sign	Post
Marches   Marc	3233 0190	Julie 9, 2021	400	XX		WO 291 3 32.673	LI	1.00	12			
						MO 291 S 32.875	RT	1.00	12			
MORECULAR MANUAL MANU				G020-5aP 36x24 6.00 WORK ZONE		MO 291 S 32.875	LT	1.00	6			
PLACES    PLACES    PLACES						MO 291 S 32 875	RT	1.00	6			
March   Marc				(PLAQUE)								
MODEL   MATERIAL PROPERTY   MATERIAL PROPERT				GO20-2 48x24 8.00 END ROAD WORK		MO 291 S 33.564	LT	1.00	8			
MODIFICATION   1970						MO 291 S 33.564	RT	1.00	8			
MACHINESTECHNICH   Machines   M						SE Bailev Rd W 1.749	RT	1.00	16			
MODES   Auto-Control   Control   C				ROAD/BRIDGE/RAMP WORK AHEAD								
ROAD-RECENTION PART AND COLOR   1911   10				GO20-2 48x24 8.00 END ROAD WORK		SE Bailey Rd. W 1.749	RT	1.00	8			
March   Marc							RT	1.00	16			
201 전 201				GO20-2 48x24 8.00 END ROAD		SE Thompson Dr. E	RT	1.00	8			
MICHAEL CONTINUES AND AND CONTINUES AND CONT		h 00	00			0.104	CD 204 C	4.00	40			
## PACCESS AND MINESTED ## PAC			96				SB 291 S	1.00	16			
Month   Mont							SB 291 S	2.00	16			
April 19				WO4-1R 48x48 16.00 MERGE			SB 291 S	1.00	16			
## PRINCE CONTROL NAME OF TAXABLE							CD 201 C	2.00	16			
### PAY 50, 2001    Part   Par				RIGHT/CENTER/LEFT LANE CLOSED			00 201 0	2.00	10			
Control Control Control Control   See See See See See See See See See Se		July 30, 2021	244	R11-3a 60x30 12.50 ROAD		.019	R of Market NB	1.00	12.5			
WORDS   4668   560 ROAD   179   170   15												
Control Cont				See Special Sign Details		.082	R of Persels WB	0.00		48x48 Scherer Detour (Left)	16.00	
WORDS - 4669   500 ROMO   244   847   1999   244   847   1999   244   847   1999   244   847   1999   244   847   1999   244   847   1999   244   847   84				WO20-3 48x48 16.00 ROAD CLOSED AHEAD		.179	R of Market NB	1.00	16			
### MONABLE AVERS ADDRESSOR AD 28 APA				WO20-3 48x48 16.00 ROAD		.244		1.00	16			
R11-36_ GR031 128-078-00-00-00-00-00-00-00-00-00-00-00-00-00				*******		204		0.00	2			
TAPATH COMAY   WOODS   Abust 100 ROAD   A11   R of Mantet 20   10   10												
CLOSED MAKED   100 POXIDO   171   R of Mariner SB   1,00   10   10   10   10   10   10				TRAFFIC ONLY								
CLOSED MACAD				WO20-3 48x48 16.00 ROAD CLOSED AHEAD		.411	R of Market SB	1.00	16			
See Special Sign Poteins				WO20-3 48x48 16.00 ROAD		.471	R of Market SB	1.00	16			
See Special Sign Details						.597	R of Jefferson NB	1.00		36x60 291 Detour (Right)	15.00	
MARCAD   1.202				See Special Sign Details		.735	R of Jefferson SB	1.00		48x48 Scherer Detour (Right)	16.00	
See Special Sign Details				WO20-2 48x48 16.00 DETOUR		1.222	R of Thompson	0.00	16		16.00	
See Special Sign Details						1.292		1.00		72x42 Scherer Road Closed	21.00	
See Special Sign Details							WB					
See Special Sign Details				See Special Sign Details		1.357		1.00		48X48 Scherer Detour (Right)	16.00	
See Special Sign Details   16.413				See Special Sign Details		16.159	L of 291 NB	0.00		48x48 Scherer Detour (Straight)	16.00	
See Special Sign Datable   16,413												
MO4-8a 24-18 3.00 END DETOUR   16.649   R of 29 NB   0.00   3												
WO2002									2	48x48 Scherer Detour (Left)	16.00	
AHEAD R11-3a 60x0 12.0 ROAD CLOSED XX MLES AHEAD LOCAL TRAFFIC ON.Y See Special Sign Details 3.755 R of Scherer EB 1.00 36x60.291 Detaur (Left) 15:00 R11-3a 60x0 12.0 ROAD CLOSED XX MLES AHEAD LOCAL TRAFFIC ON.Y WOOD-3 48x84 16.00 ROAD CLOSED XX MLES AHEAD LOCAL TRAFFIC ON.Y WOOD-3 48x84 16.00 ROAD CLOSED XMES AHEAD LOCAL TRAFFIC ON.Y WOOD-3 48x84 16.00 ROAD CLOSED AHEAD NO R of Scherer EB 1.00 16 R0 16 R0 16 R0 16 R0 17 R0 17 R0 18 R												
See Special Sign Details   3.733   R of Scherer EB   1.00   36x80 291 Detour (Left)   15.00				AHEAD R11-3a 60x30 12.50 ROAD								
See Special Sign Details   3,755   R of Scherer EB   1.00   36x80 291 Detour (Left)   15.00   1.00				CLOSED XX MILES AHEAD LOCAL TRAFFIC ONLY								
R11-Ga   60:00   12:00 FOLDD   CLOSED XM   LES AHEAD LOCAL   TRAFFIC ONLY   COLONED XM   LES AHEAD LOCAL   TRAFFIC ONLY   COLONED XM   LES AHEAD   CLOSED AHEAD   See Special Sign Details   See Special Sign De				See Special Sign Details		3.733	R of Scherer EB	1.00		36x60 291 Detour (Left)	15.00	
TRAFFIC ONLY										36x60 291 Detour (Left)	15.00	
CLOSED AHEAD   W020:3 48:48 16:00 ROAD   3.908   R of Scherer EB   1.00   16				R11-3a 60x30 12.50 ROAD CLOSED XX MILES AHEAD LOCAL TRAFFIC ONLY		3.811	R of Scherer EB	1.00	12.5			
CLOSED AHEAD   MO4-8a 24x18 3.00 END DETOUR   32.877   R of 291 SB   0.00   3   3   3   3   3   3   3   3   3				WO20-3 48x48 16.00 ROAD CLOSED AHEAD		3.862	R of Scherer EB	1.00	16			
MO4-8a   24x18   3.00 END DETOUR   32.877   R of 291 SB   0.00   3   3   3   3   3   3   3   3   3				WO20-3 48x48 16.00 ROAD CLOSED AHEAD		3.908	R of Scherer EB	1.00	16			
See Special Sign Details						32.877	R of 291 SB	0.00	3			
See Special Sign Details   .09			710	See Special Sign Details		.0	R of Persels EB	1.00		36x78 291 N Detour (Left)	19.50	
MO4-8a 24x18 3.00 END DETOUR   .09				See Special Sign Details		4.00	R of Scherer EB	1.00		48x48 Thompson Detour (Left)	16.00	
See Special Sign Details   .13				See Special Sign Details		.09	R of Persels WB	1.00		48x48 Scherer Detour (Left)	16.00	
MO4-8a 24x18 3.00 END DETOUR 1.15 R of Persels WB 1.00 3				MO4-8a 24x18 3.00 END DETOUR		.09	R of Bailey EB	1.00	3			
MO4-8a         24x18         3.00 END DETOUR         .15         R of Persels WB         1.00         3								1.00		48x48 Thompson Detour (Right)	16.00	
MO4-8a         24x18         3.00 END DETOUR         .20         R of Thompson EB         1.00         3 <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>												
WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD   .29   R of Market SB   .000   .16												
RCAD/BRIDGE/RAMP WORK AHEAD												
See Special Sign Details   .57   R of Market NB   1.00   48x48 Thompson Detour (Right)   16.00				ROAD/BRIDGE/RAMP WORK AHEAD		.23	IN OI WAIKEL SB	0.00	10			
See Special Sign Details   .58				See Special Sign Details			R of Jefferson SB	1.00		48x48 Scherer Detour (Straight)	16.00	
MO4-8a         24x18         3.00 END DETOUR         .63         R of Market NB         1.00         3           MO4-8a         24x18         3.00 END DETOUR         .80         R of Jefferson SB         1.00         3           W020-3         48x48         16.00 ROAD         1.18         R of Thompson WB         1.00         16           W020-2         48x48         16.00 DETOUR         1.19         R of Thompson WB         1.00         16												
MO4-8a         24x18         3.00 END DETOUR         .80         R of Jefferson SB         1.00         3           WO20-3         48x48         16.00 ROAD         1.18         R of Thompson WB         1.00         16           WO20-2         48x48         16.00 DETOUR         1.19         R of Thompson WB         1.00         16								1.00		36x78 291 N Detour (Right)	19.50	
WO20-3 48x48 16.00 ROAD												
OLOSED AHEAD WB  W020-2 48x48 16.00 DETOUR 1.19 R of Thompson WB  HEAD												
AHEAD WB				CLOSED AHEAD		1.18	WB	1.00	16			
				WO20-2 48x48 16.00 DETOUR AHEAD		1.19		1.00	16			
				See Special Sign Details		1.32	R of Thompson	1.00		36x78 291 S Detour (Right)	19.50	

Revision 4/1/2020 Page 12 of 20



### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
3255	0190	July 30, 2021	710	See Special Sign Details		1.35	R of Thompson WB	1.00		36x78 291 S Detour (Right)	19.50	19.
				WO20-5 48x48 16.00 RIGHT/CENTER/LEFT LANE CLOSED AHEAD		15.32	R & L of 291 NB	2.00	16			3
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		15.455	R & L of 291 NB	0.00	16			
				WO20-6a 48x48 16.00 RIGHT/CENTER/LEFT LANE CLOSED		15.47	R of 291 NB	1.00	16			1
				WO20-2 48x48 16.00 DETOUR AHEAD		15.795	R & L of 291 NB	2.00	16			3
				See Special Sign Details		15.87	L of 291 NB	1.00		48x48 Scherer Detour (Straight)	16.00	1
				See Special Sign Details		15.87	R of 291 NB	1.00		48x48 Scherer Detour (Straight)	16.00	1
				See Special Sign Details		15.87	L of 291 NB	1.00		36x78 291 S Detour (Straight)	19.50	19
				See Special Sign Details		15.87	R of 291 NB	1.00		36x78 291 S Detour (Straight)	19.50	19
				See Special Sign Details		16.16	L of 291 NB	1.00		48x48 Scherer Detour (Straight)	16.00	
				See Special Sign Details		16.16	R of 291 NB	1.00		48x48 Scherer Detour (Straight)	16.00	1
				See Special Sign Details		16.16	L of 291 NB	1.00		36x78 291 S Detour (Straight)	19.50	19
				See Special Sign Details		16.16	R of 291 NB	1.00		36x78 291 S Detour (Straight)	19.50	19
				See Special Sign Details		16.34	L of 291 NB	1.00		36x78 291 S Detour (Left)	19.50	19
				See Special Sign Details		16.34	R of 291 NB	1.00		36x78 291 S Detour (Left)	19.50	19
				See Special Sign Details		16.42	L of 291 NB	1.00		48x48 Scherer Detour (Left)	16.00	1
				See Special Sign Details		16.42	R of 291 NB	1.00		48x48 Scherer Detour (Left)	16.00	1
				See Special Sign Details		16.42	L of 291 NB	1.00		36x84 291 S Detour (U-Turn)	21.00	2
				See Special Sign Details		16.42	R of 291 NB	1.00		36x84 291 S Detour (U-Turn)	21.00	2
				MO4-8a 24x18 3.00 END DETOUR		16.65	R of 291 NB	1.00	3			
				WO20-3 48x48 16.00 ROAD CLOSED AHEAD		3.61	R of Scherer EB	1.00	16			1
				WO20-2 48x48 16.00 DETOUR AHEAD		3.67	R of Scherer EB	1.00	16			1
				See Special Sign Details		3.73	R of Scherer EB	1.00		36x78 291 N Detour (Left)	19.50	19
				See Special Sign Details		3.76	R of Scherer EB	1.00		36x78 291 N Detour (Left)	19.50	19
				R11-4 60x30 12.50 ROAD CLOSED TO THRU TRAFFIC		3.80	R of Scherer EB	1.00	12.5			12
				WO20-2 48x48 16.00 DETOUR AHEAD		3.90	R of Scherer EB	1.00	16			1
				WO20-5 48x48 16.00 RIGHT/CENTER/LEFT LANE CLOSED AHEAD		32.88	R & L of 291 SB	2.00	16			3
				WO20-6a 48x48 16.00 RIGHT/CENTER/LEFT LANE CLOSED		32.98	R of 291 SB	1.00	16			1
				See Special Sign Details		.00	R of 16th EB	1.00		48x48 Thompson Detour (Straight)	16.00	1
	0190 - Total		·	<u>'</u>								1537

Revision 4/1/2020 Page 13 of 20



255 00	ine	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
	020	CLASS A EXCAVATION	Price FUEL		1	Jun 16, 2021	SYSTEM	\$66.88	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2	Jul 1, 2021	SYSTEM	\$66.88	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Jul 30, 2021	SYSTEM	\$19.86	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	Aug 16, 2021	SYSTEM	\$248.38	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$402.00	
			Price FUEL	- Total				\$402.00	
00	020 -	Total						\$402.00	
00	030	EMBANKMENT IN PLACE	Material		2	Jul 1, 2021	SYSTEM	\$10,300.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user needhm1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Jul 1, 2021	SYSTEM	(\$10,300.90)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Price FUEL		2	Jul 1, 2021	SYSTEM	\$118.78	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$118.78	
			Price FUEL	- Total				\$118.78	
00	030 -	Total						\$118.78	
00	040	COMPACTING EMBANKMENT	Material		1	Jun 16, 2021	SYSTEM	\$471.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user nguyep1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Jun 16, 2021	SYSTEM	(\$471.00)	
					2	Jul 1, 2021	SYSTEM	\$942.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user needhm1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	Jul 1, 2021	SYSTEM	(\$942.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
00	040 -	Total						\$0.00	
00	060	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		2	Jul 1, 2021	SYSTEM	\$18,022.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user needhm1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
		mion			2	Jul 1, 2021	SYSTEM	(\$18,022.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Price FUEL		2	Jul 1, 2021	SYSTEM	\$294.30	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Jul 30, 2021	SYSTEM	\$200.74	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	Aug 16, 2021	SYSTEM	\$322.30	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					6	Sep 2, 2021	SYSTEM	\$285.45	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$1,102.79	
								\$1,102.79	
			Price FUEL	- Total					
		Total		- Total				\$1,102.79	
	<mark>060 -</mark> 070	Total MISC.	Price FUEL  Material	- Total	6	Sep 2, 2021	SYSTEM		This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user nguyep1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total	6		SYSTEM	\$1,102.79	Estimate Item Adjustment (0002) due to user nguyep1 overridding Payment



Project	Line	Description	Adjustment		Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
J4P3255	0070	MISC.	Material - T	otal				\$0.00	
	0070 -	Total						\$0.00	
	0100	CONCRETE PAVEMENT (8 IN. NON-	Material		2	Jul 1, 2021	SYSTEM	\$78,592.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user needhm1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
		REINFORCED,			2	Jul 1, 2021	SYSTEM	(\$78,592.80)	
					3	Jul 16, 2021	SYSTEM	\$103,085.84	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user nguyep1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Jul 16, 2021	SYSTEM	(\$103,085.84)	
					4	Jul 30, 2021	SYSTEM	\$91,919.66	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user needhm1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jul 30, 2021	SYSTEM	(\$91,919.66)	
					5	Aug 16, 2021	SYSTEM	\$14,698.86	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user nguyep1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Aug 16, 2021	SYSTEM	(\$14,698.86)	
					6	Sep 2, 2021	SYSTEM	\$14,698.86	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user nguyep1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$14,698.86)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
				otui	0	Iol 4	OVOTEM		Defended the Drive Adjustment to dear Adjustment Time and its ELIE
			Price FUEL		2	Jul 1, 2021	SYSTEM	\$417.18	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2	Jul 1, 2021	SYSTEM	\$168.14	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Jul 16, 2021	SYSTEM	\$187.55	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Jul 30, 2021	SYSTEM	\$505.80	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$1,278.67	
			Price FUEL	- Total				\$1,278.67	
	0100 -	Total						\$1,278.67	
	0120	PIPE COLLAR, TYPE B	Material		1	Jun 16, 2021	SYSTEM	\$2,552.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user nguyep1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Jun 16, 2021	SYSTEM	(\$2,552.60)	
					2	Jul 1, 2021	SYSTEM	\$3,828.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user needhm1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					2	Jul 1, 2021	SYSTEM	(\$3,828.90)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0120 -	Total						\$0.00	
	0130	6 IN. CONCRETE MEDIAN STRIP	Material		6	Sep 2, 2021	SYSTEM	\$13,031.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user nguyep1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$13,031.85)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0130 -	Total						\$0.00	
			Material		1	lul 20	QVQTEM4		This adjustment affects the original system generated Material Reverset
	0140	PAVED	Material		4	Jul 30,	SYSTEM	\$4,536.96	This adjustment offsets the original system-generated Material Payment



Project	Lino	Description	Adjustment	Other	Est.	Crostod	Created	Amount	Remarks
Project	Line	Description	Adjustment Type	Adjustment Type		Created Date	By	Amount	Refilled to
J4P3255	0140	APPROACH, 8 IN.	Material			2021			Estimate Item Adjustment (0006) due to user needhm1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	Jul 30, 2021	SYSTEM	(\$4,536.96)	
					5	Aug 16, 2021	SYSTEM	\$4,536.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user nguyep1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5	Aug 16, 2021	SYSTEM	(\$4,536.96)	
					6	Sep 2, 2021	SYSTEM	\$4,536.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$4,536.96)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Price FUEL		4	Jul 30, 2021	SYSTEM	\$17.87	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$17.87	
			Price FUEL	- Total				\$17.87	
	0140 -	Total						\$17.87	
	0150	CURB AND GUTTER TYPE B	Material		6	Sep 2, 2021	SYSTEM	\$4,762.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$4,762.80)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0150 -	Total						\$0.00	
	0160	PAVED DITCH	Material		4	Jul 30, 2021	SYSTEM	\$2,635.68	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user needhm1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					4	Jul 30, 2021	SYSTEM	(\$2,635.68)	
					5	Aug 16, 2021	SYSTEM	\$2,635.68	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	Aug 16, 2021	SYSTEM	(\$2,635.68)	
					6	Sep 2, 2021	SYSTEM	\$2,635.68	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user nguyep1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$2,635.68)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0160 -	Total						\$0.00	
	0170	INTEGRAL CURB (6 IN. HEIGHT AND UNDER)	Material		3	Jul 16, 2021	SYSTEM	\$3,222.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user nguyep1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					3	Jul 16, 2021	SYSTEM	(\$3,222.45)	,
					4	Jul 30, 2021	SYSTEM	\$3,222.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user needhm1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					4	Jul 30, 2021	SYSTEM	(\$3,222.45)	
					5	Aug 16, 2021	SYSTEM	\$3,222.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					5	Aug 16, 2021	SYSTEM	(\$3,222.45)	
					6	Sep 2,	SYSTEM	\$3,222.45	This adjustment offsets the original system-generated Material Payment



1			_			_	_	_		_	
	ject	Line	Description		Adjustment				Amount	Remarks	
G   St. HEIGHT   AND UNDER	3255	0170	INTEGRAL CURB	Material	Туре		2021			Estimate Item Adjustment (0008) due to user nauvep1 overridding Payment	
Commonstration		0110	(6 IN. HEIGHT	matorial			2021				
Material   Total			,			6		SYSTEM	(\$3,222.45)		
1					- Total				\$0.00		
1				Material - To	otal				\$0.00		
SIGNS		0170 -	Total						\$0.00		
2		0190		Material		1		SYSTEM	\$3,855.20	Estimate Item Adjustment (0004) due to user nguyep1 overridding Payment	
2021   2   Jul 1, 2   SYSTEM   (\$4,613.60)						1		SYSTEM	(\$3,855.20)		
						2		SYSTEM	\$4,613.60	Estimate Item Adjustment (0011) due to user needhm1 overridding Payment	
National - Total   \$0.00						2		SYSTEM	(\$4,613.60)		
Material - Total					- Total		2021		\$0.00		
ADVANCED   Marking Rall				Material - To							
WARNING RAIL   2021   Estimate Item Adjustment (0012) due to user needmin overridding Payment Estimate.   2		0190 -	Total								
Total   S0.00		0200	WARNING RAIL	Material		2		SYSTEM	\$357.00	Estimate Item Adjustment (0012) due to user needhm1 overridding Payment	
						2		SYSTEM	(\$357.00)		
					- Total				\$0.00		
CHANNELIZER (TRIM LINE)									\$0.00		
CRIM LINE   2021   Estimate Item Adjustment (0013) due to user needhant overridding Payment		0200 -	Total						\$0.00		
2021   \$0.00		0230		Material		2		SYSTEM	\$2,016.00	Estimate Item Adjustment (0013) due to user needhm1 overridding Payment	
						2		SYSTEM	(\$2,016.00)		
					- Total				\$0.00		
Part				Material - Total					\$0.00		
ARROW PANEL    2		0230 - Total							\$0.00		
2021   3		0250		Material		2		SYSTEM	\$1,155.00	Estimate Item Adjustment (0014) due to user needhm1 overridding Payment	
2021   Estimate Item Adjustment (0004) due to user nguyep1 overridding Payment Estimate Exception 7 on the current Payment Estimate.    3						2		SYSTEM	(\$1,155.00)		
2021  4 Jul 30, 2021  5 YSTEM \$1,155.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user needhm1 overridding Payment Estimate Exception 10 on the current Payment Estimate.  1 Jul 30, 2021  5 0.00  Material - Total  5 0.00  CMS W/O COMMUNICATION INTERFACE, CONT F/  1 Jun 16, 2021  2 Jul 1, SYSTEM (\$18,900.00)  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 4 on the current Payment Estimate Exception 4 on the current Payment Estimate.  2 Jul 1, SYSTEM \$18,900.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate Exception 4 on the current Payment Estimate.							3		SYSTEM	\$1,155.00	Estimate Item Adjustment (0004) due to user nguyep1 overridding Payment
2021 Estimate Item Adjustment (0009) due to user needhm1 overridding Payment Estimate.  4 Jul 30, 2021 \$0.00  -Total \$0.00  Material - Total \$0.00  CMS W/O COMMUNICATION INTERFACE, CONT F/  1 Jun 16, 2021 \$18,900.00  2 Jul 1, SYSTEM (\$18,900.00)  This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate.  1 Jun 16, 2021 \$18,900.00  This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate.  1 Jun 16, 2021 \$18,900.00  This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate.						3		SYSTEM	(\$1,155.00)		
- Total \$0.00    Material - Total \$0.00						4		SYSTEM	\$1,155.00	Estimate Item Adjustment (0009) due to user needhm1 overridding Payment	
Material - Total   \$0.00						4		SYSTEM	(\$1,155.00)		
CMS W/O COMMUNICATION INTERFACE, CONT F/   CONT F/   2021   2 Jul 1, SYSTEM \$18,900.00   SYSTEM \$18,900.00   This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 4 on the current Payment Estimate.					- Total				\$0.00		
O260 CMS W/O COMMUNICATION INTERFACE, CONT F/ CONT F/ 2 Jul 1, SYSTEM \$18,900.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate.  1 Jun 16, 2021 \$YSTEM \$18,900.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate.  2 Jul 1, SYSTEM \$18,900.00 This adjustment offsets the original system-generated Material Payment				Material - To	otal				\$0.00		
COMMUNICATION INTERFACE, CONT F/  1 Jun 16, 2021  2021  Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 4 on the current Payment Estimate.  1 Jun 16, 2021  2 Jul 1, SYSTEM \$18,900.00  This adjustment offsets the original system-generated Material Payment		0250 -	Total						\$0.00		
1 Jun 16, 2021 (\$18,900.00) 2 Jul 1, SYSTEM \$18,900.00 This adjustment offsets the original system-generated Material Payment			COMMUNICATION INTERFACE,	ON CE,		1		SYSTEM	\$18,900.00	Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment	
2 Jul 1, SYSTEM \$18,900.00 This adjustment offsets the original system-generated Material Payment			CONT F/			1		SYSTEM	(\$18,900.00)		
Estimate term Adjustment (0013) due to user needmin overhading Payment Estimate Exception 19 on the current Payment Estimate.						2		SYSTEM	\$18,900.00	Estimate Item Adjustment (0015) due to user needhm1 overridding Payment	



APP	Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
Interest   Total   Support   State   Support   State   Support   State   Support   State   Support   State   Support   State   Support	J4P3255	0260		Material	Туре	2		SYSTEM	(\$18,900.00)	
Color   Total			INTERFACE,		- Total		2021		\$0.00	
State			CONT F/	Material - To						
REMOVESTER   2021		0260 -	· Total						\$0.00	
2021   Sep 2		0340	REMOVABLE	Material		5		SYSTEM	\$1,347.25	Estimate Item Adjustment (0007) due to user nguyep1 overridding Payment
2021   Seriande Item Adjustment (0009) due lo user regyper) revending Payment Estimate Exception 17 on the current Payment Estimate.   2021						5		SYSTEM	(\$1,347.25)	
1-7-101   1-7-						6		SYSTEM	\$1,347.25	Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment
Material   Total						6		SYSTEM	(\$1,347.25)	
					- Total				\$0.00	
Second   S				Material - To	otal				\$0.00	
BUILD   WATERBORNE   PAINT		0340 -	· Total						\$0.00	
Source   Sept   SySTEM   SyS		0360	BUILD WATERBORNE	Material		5	Aug 16, 2021	SYSTEM	\$150.15	Estimate Item Adjustment (0008) due to user nguyep1 overridding Payment
2021			PAINI			5		SYSTEM	(\$150.15)	
1						6		SYSTEM	\$150.15	Estimate Item Adjustment (0010) due to user nguyep1 overridding Payment
						6		SYSTEM	(\$150.15)	
Second Color					- Total				\$0.00	
18 IN. GROUP A FLARED END SECT  1 Jun 16, SYSTEM (\$2,589.20)  2 Jul 1, SYSTEM (\$2,589.20)  2 Jul 1, SYSTEM (\$2,589.20)  2 Jul 1, SYSTEM (\$3,883.80)  2 Jul 16, SYSTEM (\$3,883.80)  2 Jul 16, SYSTEM (\$3,883.80)  3 Jul 16, SYSTEM (\$3,883.80)  3 Jul 16, SYSTEM (\$4,73.00)  3 Jul 16, SYSTEM (\$6,473.00)  3 Jul 16, SYSTEM (\$6,473.00)  3 Jul 16, SYSTEM (\$6,473.00)  4 Jul 30, SYSTEM (\$6,473.00)  2 Jul 30, SYSTEM (\$6,473.00)  4 Jul 30, SYSTEM (\$6,473.00)  5 Aug 16, SYSTEM (\$9,062.20)  5 Aug 16, SYSTEM (\$9,062.20)  6 Sep 2, SYSTEM (\$9,062.20)  7 This adjustment offsets the original system-generated Material Payment Estimate Exception 8 on the current Payment Estimate.  1 This adjustment offsets the original system-generated Material Payment Estimate Exception 8 on the current Payment Estimate.  3 Jul 16, SYSTEM (\$9,062.20)  5 Aug 16, SYSTEM (\$9,062.20)  5 Aug 16, SYSTEM (\$9,062.20)  6 Sep 2, SYSTEM (\$9,062.20)  6 Sep 2, SYSTEM (\$9,062.20)  7 This adjustment offsets the original system-generated Material Payment Estimate Exception 13 on the current Payment Estimate.  5 This adjustment offsets the original system-generated Material Payment Estimate Exception 13 on the current Payment Estimate.  6 Sep 2, SYSTEM (\$9,062.20)  7 This adjustment offsets the original system-generated Material Payment Estimate Exception 20 on the current Payment Estimate.  6 Sep 2, SYSTEM (\$9,062.20)				Material - To	Material - Total					
SESTEND   2021   Estimate tem Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.		0360 - Total								
2 Jul 1, SYSTEM \$3,883.80 This adjustment offsets the original system-generated Material Payment Estimate Exception 20 on the current Payment Estimate Exception 8 on the current Payment Estimate Exception 8 on the current Payment Estimate Exception 8 on the current Payment Estimate Payment Estimate Exception 8 on the current Payment Estimate Payment Estimate Exception 8 on the current Payment Estimate Payment Estimate Exception 8 on the current Payment Estimate Estimate Exception 8 on the current Payment Estimate Estimate Exception 8 on the current Payment Estimate Estimate Estimate Exception 8 on the current Payment Estimate Estimate Estimate Estimate Exception 11 on the current Payment Estimate Estimate Estimate Exception 11 on the current Payment Estimate Estimate Exception 11 on the current Payment Estimate Estimate Estimate Exception 13 on the current Payment Estimate Estimate Estimate Exception 13 on the current Payment Estimate Estimate Estimate Exception 13 on the current Payment Estimate Estimate Exception 13 on the current Payment Estimate Estimate Estimate Exception 13 on the current Payment Estimate Estimate Estimate Exception 13 on the current Payment Estimate Estimate Estimate Exception 13 on the current Payment Estimate Estimate Estimate Exception 13 on the current Payment Estimate Estimate Exception 13 on the current Payment Estimate Estimate Exception 13 on the current Payment Estimate Estimate Exception 20 on the current Payment Estimate Estimate Exception 20 on the current Payment Estimate.  - Sep 2, SYSTEM (\$9,062.20)  - Total SySTEM (\$9,062.20)										
Estimate Item Adjustment (0016) due to user needhm1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  2 Jul 1, 2021 SYSTEM (\$3,883.80)  3 Jul 16, 2021 SYSTEM (\$6,473.00) 2021 SYSTEM (\$6,473.00) 2021 This adjustment offsets the original system-generated Material Payment Estimate Exception 8 on the current Payment Estimate.  4 Jul 30, 2021 SYSTEM (\$9,062.20) 2021 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user needhm1 overridding Payment Estimate Item Adjustment (0010) due to user needhm1 overridding Payment Estimate Exception 11 on the current Payment Estimate.  5 Aug 16, 2021 This adjustment offsets the original system-generated Material Payment Estimate Exception 13 on the current Payment Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  5 Aug 16, 2021 SYSTEM (\$9,062.20) 6 Sep 2, 2021 SYSTEM \$9,062.20 This adjustment offsets the original system-generated Material Payment Estimate Exception 13 on the current Payment Estimate.  6 Sep 2, 2021 SYSTEM (\$9,062.20) 7 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user nguyep1 overridding Payment Estimate Item Adjustment (0011) due to user nguyep1 overridding Payment Estimate Exception 20 on the current Payment Estimate.			18 IN. GROUP A FLARED END	Material		1		SYSTEM		Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment
3 Jul 16, 2021 \$\ (\$6,473.00 \) This adjustment offsets the original system-generated Material Payment Estimate Exception 8 on the current Payment Estimate.  3 Jul 16, 2021 \$\ (\$6,473.00) \$\ (\$6,473.00) \$\ (\$6,473.00) \$\ (\$7,473.00			18 IN. GROUP A FLARED END	Material			2021 Jun 16,		\$2,589.20	Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment
Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  3 Jul 16, 2021  4 Jul 30, 2021  5 SYSTEM (\$9,062.20)  5 Aug 16, 2021  5 Aug 16, 2021  6 Sep 2, 2021  6 Sep 2, 2021  SYSTEM (\$9,062.20)  Estimate Item Adjustment (0010) due to user needhm1 overridding Payment Estimate Item Adjustment (0009) due to user needhm1 overridding Payment Estimate Exception 11 on the current Payment Estimate.  Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  5 Aug 16, SYSTEM (\$9,062.20)  6 Sep 2, SYSTEM (\$9,062.20)  This adjustment offsets the original system-generated Material Payment Estimate Exception 13 on the current Payment Estimate.  5 SySTEM (\$9,062.20)  Estimate Item Adjustment (0011) due to user nguyep1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  5 Sep 2, SYSTEM (\$9,062.20)			18 IN. GROUP A FLARED END	Material		1	Jun 16, 2021 Jul 1,	SYSTEM	\$2,589.20 (\$2,589.20)	Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user needhm1 overridding Payment
2021  4 Jul 30, 2021  5 Aug 16, 2021  6 Sep 2, 2021  5 Sep 2, 2021  6 Sep 2, 2021  5 Sep 2, 2021  5 Sep 2, 2021  6 Sep 3 SYSTEM  6 Sep 2, 2021  6 Sep 3 SYSTEM  6 Sep 2, 2021  6 Sep 3 SYSTEM  6 Sep 4 SYSTEM  6 Sep 5 SYSTEM  6 Sep 5 SYSTEM  6 Sep 6 SYSTEM  6 Sep 7 SYSTEM  6 Sep 8 SYSTEM  6 Sep 8 SYSTEM  6 Sep 9 SYSTEM  6 Sep 9 SYSTEM  6 Sep 1 SYSTEM  6 Sep 2 SYSTEM  7 Sep 2 SYSTEM  8 SP 3 S			18 IN. GROUP A FLARED END	Material		1 2	Jun 16, 2021 Jul 1, 2021 Jul 1,	SYSTEM	\$2,589.20 (\$2,589.20) \$3,883.80	Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user needhm1 overridding Payment
Estimate Item Adjustment (0010) due to user needhm1 overridding Payment Estimate Exception 11 on the current Payment Estimate.  4 Jul 30, 2021  5 Aug 16, 2021  5 Aug 16, 2021  6 Sep 2, 2021  6 Sep 2, 2021  6 Sep 2, 2021  SYSTEM  \$9,062.20  This adjustment offsets the original system-generated Material Payment Estimate Exception 13 on the current Payment Estimate.  5 This adjustment (0009) due to user nguyep1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user nguyep1 overridding Payment Estimate Item Adjustment (0011) due to user nguyep1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  Sep 2, 2021  System  \$0.00			18 IN. GROUP A FLARED END	Material		2	Jun 16, 2021 Jul 1, 2021 Jul 1, 2021 Jul 16,	SYSTEM SYSTEM	\$2,589.20 (\$2,589.20) \$3,883.80 (\$3,883.80)	Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user needhm1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment
2021  5 Aug 16, 2021  \$ \$9,062.20 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  5 Aug 16, 2021  6 Sep 2, 2021  \$ \$9,062.20 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user nguyep1 overridding Payment Estimate Item Adjustment (0011) due to user nguyep1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  6 Sep 2, 2021  \$ \$9,062.20 SYSTEM (\$9,062.20)  - Total			18 IN. GROUP A FLARED END	Material		2 3	2021 Jun 16, 2021 Jul 1, 2021 Jul 1, 2021 Jul 16, 2021 Jul 16, 2021	SYSTEM SYSTEM SYSTEM SYSTEM	\$2,589.20 (\$2,589.20) \$3,883.80 (\$3,883.80) \$6,473.00	Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user needhm1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment
Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  5 Aug 16, 2021  6 Sep 2, 2021  \$9,062.20  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user nguyep1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  6 Sep 2, 2021  \$9,062.20  - Total			18 IN. GROUP A FLARED END	Material		1 2 2 3 3 3	2021 Jun 16, 2021 Jul 1, 2021 Jul 1, 2021 Jul 16, 2021 Jul 16, 2021 Jul 30,	SYSTEM SYSTEM SYSTEM SYSTEM	\$2,589.20 (\$2,589.20) \$3,883.80 (\$3,883.80) \$6,473.00	Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user needhm1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user needhm1 overridding Payment Estimate Item Adjustment (0010) due to user needhm1 overridding Payment
6 Sep 2, 2021 SYSTEM \$9,062.20 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user nguyep1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  6 Sep 2, 2021 SYSTEM (\$9,062.20)  - Total \$0.00			18 IN. GROUP A FLARED END	Material		1 2 2 3 3 4	2021 Jun 16, 2021 Jul 1, 2021 Jul 1, 2021 Jul 16, 2021 Jul 16, 2021 Jul 30, 2021 Jul 30, 2021	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$2,589.20 (\$2,589.20) \$3,883.80 (\$3,883.80) \$6,473.00 (\$6,473.00) \$9,062.20	Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user needhm1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user needhm1 overridding Payment Estimate Item Adjustment (0010) due to user needhm1 overridding Payment
Estimate Item Adjustment (0011) due to user nguyep1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  6 Sep 2, 2021 \$\frac{1}{2021}\$\$ (\$\\$9,062.20) \$\frac{1}{2021}\$\$ \$\\$0.00			18 IN. GROUP A FLARED END	Material		1 2 2 3 3 4 4 4	2021 Jun 16, 2021 Jul 1, 2021 Jul 1, 2021 Jul 16, 2021 Jul 16, 2021 Jul 30, 2021 Jul 30, 2021 Aug 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$2,589.20 (\$2,589.20) \$3,883.80 (\$3,883.80) \$6,473.00 (\$6,473.00) \$9,062.20	Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user needhm1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user needhm1 overridding Payment Estimate Exception 11 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment
2021			18 IN. GROUP A FLARED END	Material		1 2 2 3 3 4 4 5 5	2021 Jun 16, 2021 Jul 1, 2021 Jul 16, 2021 Jul 16, 2021 Jul 30, 2021 Jul 30, 2021 Aug 16, 2021 Aug 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$2,589.20 (\$2,589.20) \$3,883.80 (\$3,883.80) \$6,473.00 (\$6,473.00) \$9,062.20 (\$9,062.20)	Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user needhm1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user needhm1 overridding Payment Estimate Exception 11 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment
			18 IN. GROUP A FLARED END	Material		1 2 2 3 3 4 4 5 5 5	2021 Jun 16, 2021 Jul 1, 2021 Jul 16, 2021 Jul 16, 2021 Jul 30, 2021 Jul 30, 2021 Aug 16, 2021 Aug 16, 2021 Sep 2,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$2,589.20 (\$2,589.20) \$3,883.80 (\$3,883.80) \$6,473.00 (\$6,473.00) \$9,062.20 (\$9,062.20) \$9,062.20	Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user needhm1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user needhm1 overridding Payment Estimate Exception 11 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Exception 13 on the current Payment Estimate.
Material - Total \$0.00			18 IN. GROUP A FLARED END	Material		1 2 2 3 3 4 4 5 5 5 6 6	2021 Jun 16, 2021 Jul 1, 2021 Jul 1, 2021 Jul 16, 2021 Jul 16, 2021 Jul 30, 2021 Jul 30, 2021 Aug 16, 2021 Aug 16, 2021 Sep 2, 2021	SYSTEM	\$2,589.20 (\$2,589.20) \$3,883.80 (\$3,883.80) \$6,473.00 (\$6,473.00) \$9,062.20 (\$9,062.20) \$9,062.20 (\$9,062.20)	Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user needhm1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user needhm1 overridding Payment Estimate Exception 11 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Exception 13 on the current Payment Estimate.
			18 IN. GROUP A FLARED END	Material	- Total	1 2 2 3 3 4 4 5 5 5 6 6	2021 Jun 16, 2021 Jul 1, 2021 Jul 1, 2021 Jul 16, 2021 Jul 16, 2021 Jul 30, 2021 Jul 30, 2021 Aug 16, 2021 Aug 16, 2021 Sep 2, 2021	SYSTEM	\$2,589.20 (\$2,589.20) \$3,883.80 (\$3,883.80) \$6,473.00 (\$6,473.00) \$9,062.20 (\$9,062.20) \$9,062.20 (\$9,062.20) (\$9,062.20)	Estimate Item Adjustment (0006) due to user nguyep1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user needhm1 overridding Payment Estimate Exception 20 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user nguyep1 overridding Payment Estimate Exception 8 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user needhm1 overridding Payment Estimate Exception 11 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user nguyep1 overridding Payment Estimate Exception 13 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Exception 13 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4P3255	0460 -	Total						\$0.00	
	0470	21 IN. GROUP A FLARED END SECT	Material		5	Aug 16, 2021	SYSTEM	\$2,865.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user nguyep1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					5	Aug 16, 2021	SYSTEM	(\$2,865.20)	
					6	Sep 2, 2021	SYSTEM	\$2,865.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user nguyep1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$2,865.20)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0470 -	Total						\$0.00	
	0480	24 IN. GROUP A FLARED END SECT	Material		4	Jul 30, 2021	SYSTEM	\$1,432.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user needhm1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					4	Jul 30, 2021	SYSTEM	(\$1,432.60)	
					5	Aug 16, 2021	SYSTEM	\$1,432.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user nguyep1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					5	Aug 16, 2021	SYSTEM	(\$1,432.60)	
					6	Sep 2, 2021	SYSTEM	\$1,432.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user nguyep1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$1,432.60)	
				- Total				\$0.00	
			Material - To	Total				\$0.00	
	0480 -	Total						\$0.00	
	0490	SEEDING - COOL SEASON MIXTURES	Material		6	Sep 2, 2021	SYSTEM	\$4,520.46	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user nguyep1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$4,520.46)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0490 -	Total						\$0.00	
	0530	CURB INLET CHECK	Material		6	Sep 2, 2021	SYSTEM	\$210.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user nguyep1 overridding Payment Estimate Exception 28 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$210.00)	
				- Total				\$0.00	
			Material - To	rial - Total				\$0.00	
	0530 -	Total						\$0.00	
	0750	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	Material		5	Aug 16, 2021	SYSTEM	\$51,268.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user nguyep1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					5	Aug 16, 2021	SYSTEM	(\$51,268.10)	
					6	Sep 2, 2021	SYSTEM	\$51,268.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user nguyep1 overridding Payment Estimate Exception 29 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$51,268.10)	
				- Total				\$0.00	
			Material - Total				\$0.00		
	0750 -	50 - Total							
	0770	CONDUIT, 4 IN.,	Material		5	Aug 16,	SYSTEM	\$21,111.80	This adjustment offsets the original system-generated Material Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4P3255	0770	PUSHED WITH TRACER WIRE	Material	.,,,,,,		2021			Estimate Item Adjustment (0013) due to user nguyep1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					5	Aug 16, 2021	SYSTEM	(\$21,111.80)	
					6	Sep 2, 2021	SYSTEM	\$21,111.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user nguyep1 overridding Payment Estimate Exception 30 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$21,111.80)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0770 -	Total						\$0.00	
	0820	PULL BOX, PREFORMED CLASS 2	Material		5	Aug 16, 2021	SYSTEM	\$9,130.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user nguyep1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					5	Aug 16, 2021	SYSTEM	(\$9,130.50)	
					6	Sep 2, 2021	SYSTEM	\$9,130.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user nguyep1 overridding Payment Estimate Exception 31 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$9,130.50)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0820 -	Total						\$0.00	
	0840	PULL BOX, PREFORMED CLASS 5	Material		5	Aug 16, 2021	SYSTEM	\$2,335.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user nguyep1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
					5	Aug 16, 2021	SYSTEM	(\$2,335.10)	
					6	Sep 2, 2021	SYSTEM	\$2,335.10	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user nguyep1 overridding Payment Estimate Exception 32 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$2,335.10)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0840 -	Total						\$0.00	
	5003	IMPACT ATTENUATOR 45 MPH (SAND BARREL ARRAY)	Material		6	Sep 2, 2021	SYSTEM	\$5,880.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user nguyep1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$5,880.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	5003 -	Total						\$0.00	
	5004	TEMP. TRAFFIC BARRIER ANCHORED., CONT	Material		6	Sep 2, 2021	SYSTEM	\$4,523.52	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user nguyep1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					6	Sep 2, 2021	SYSTEM	(\$4,523.52)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	5004 -	Total						\$0.00	
J4P3255 -								\$2,920.11	
Overall -	Total							\$2,920.11	